Transfers Report

This report contains the transfers results.

| Contest Name | Ward 3 - Shetland West |
|------------------------|------------------------|
| Valid Votes | 758 |
| Positions to be Filled | 2 |
| Quota | 253 |

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|--------------------|-------------------------------|----------------------|
| Liz BOXWELL | Independent | 298 |
| Peter James FRASER | Independent | 5 |
| Andrew HOLT | Independent | 43 |
| John Robert LEASK | Independent | 135 |
| Debra NICOLSON | Scottish Green Party | 69 |
| Zara PENNINGTON | Scottish National Party (SNP) | 59 |
| Mark ROBINSON | Independent | 128 |
| Ian TINKLER | Independent | 21 |
| | Total | 758 |

Candidate Liz BOXWELL Elected with 298 votes, being in excess of the quota of 253

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Liz BOXWELL

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Peter James FRASER | 13 | 0.15100 | 1.96300 |
| Transfer to Andrew HOLT | 20 | 0.15100 | 3.02000 |
| Transfer to John Robert LEASK | 126 | 0.15100 | 19.02600 |
| Transfer to Debra NICOLSON | 9 | 0.15100 | 1.35900 |
| Transfer to Zara PENNINGTON | 13 | 0.15100 | 1.96300 |
| Transfer to Mark ROBINSON | 95 | 0.15100 | 14.34500 |
| No further preference | 18 | 0.15100 | 2.71800 |
| Not transferred due to rounding | | | 0.00200 |
| | Total | | 45.00000 |

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Peter James FRASER

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Andrew HOLT | 1 | 1.00000 | 1.00000 |
| Transfer to Debra NICOLSON | 1 | 1.00000 | 1.00000 |
| Transfer to Mark ROBINSON | 1 | 1.00000 | 1.00000 |
| Transfer to Andrew HOLT | 2 | 0.15100 | 0.30200 |
| Transfer to Debra NICOLSON | 1 | 0.15100 | 0.15100 |
| Transfer to Mark ROBINSON | 2 | 0.15100 | 0.30200 |
| | | | |
| No further preference | 2 | 1.00000 | 2.00000 |
| No further preference | 2 | 0.15100 | 0.30200 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 6.96300 |

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Ian TINKLER

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Andrew HOLT | 3 | 1.00000 | 3.00000 |
| Transfer to John Robert LEASK | 4 | 1.00000 | 4.00000 |
| Transfer to Mark ROBINSON | 7 | 1.00000 | 7.00000 |
| Transfer to John Robert LEASK | 1 | 0.15100 | 0.15100 |
| Transfer to Mark ROBINSON | 1 | 0.15100 | 0.15100 |
| | | | |
| No further preference | 7 | 1.00000 | 7.00000 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 21.60400 |

Transfers Report

This report contains the transfers results.

50.32200

Stage 5 - Exclusion of Andrew HOLT

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to John Robert LEASK | 12 | 1.00000 | 12.00000 |
| Transfer to Debra NICOLSON | 10 | 1.00000 | 10.00000 |
| Transfer to Zara PENNINGTON | 3 | 1.00000 | 3.00000 |
| Transfer to Mark ROBINSON | 13 | 1.00000 | 13.00000 |
| Transfer to John Robert LEASK | 7 | 0.15100 | 1.05700 |
| Transfer to Debra NICOLSON | 1 | 0.15100 | 0.15100 |
| Transfer to Zara PENNINGTON | 1 | 0.15100 | 0.15100 |
| Transfer to Mark ROBINSON | 4 | 0.15100 | 0.60400 |
| | | | |
| No further preference | 9 | 1.00000 | 9.00000 |
| No further preference | 9 | 0.15100 | 1.35900 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 50.32200 |

Report Name: Transfers_V0001_Ward-3---Shetland-West_06052022_120835.pdf Created: 06-5-2022 12:08:35

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Zara PENNINGTON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to John Robert LEASK | 6 | 1.00000 | 6.00000 |
| Transfer to Debra NICOLSON | 37 | 1.00000 | 37.00000 |
| Transfer to Mark ROBINSON | 6 | 1.00000 | 6.00000 |
| Transfer to John Robert LEASK | 8 | 0.15100 | 1.20800 |
| Transfer to Debra NICOLSON | 2 | 0.15100 | 0.30200 |
| Transfer to Mark ROBINSON | 1 | 0.15100 | 0.15100 |
| | | | |
| No further preference | 13 | 1.00000 | 13.00000 |
| No further preference | 8 | 0.15100 | 1.20800 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 64.86900 |

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Debra NICOLSON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to John Robert LEASK | 26 | 1.00000 | 26.00000 |
| Transfer to Mark ROBINSON | 27 | 1.00000 | 27.00000 |
| Transfer to John Robert LEASK | 2 | 0.15100 | 0.30200 |
| Transfer to Mark ROBINSON | 6 | 0.15100 | 0.90600 |
| | | | |
| No further preference | 64 | 1.00000 | 64.00000 |
| No further preference | 5 | 0.15100 | 0.75500 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 118.96300 |

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Mark ROBINSON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to John Robert LEASK | 87 | 1.00000 | 87.00000 |
| Transfer to John Robert LEASK | 45 | 0.15100 | 6.79500 |
| No further preference | 95 | 1.00000 | 95.00000 |
| No further preference | 64 | 0.15100 | 9.66400 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 198.45900 |